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mer | g2 R ZER | sy
1 1| (%) BEHE R fF 2,327 23
2 4IREBFTZE () XA 1,520 10
3 3IRAMELEAR (BK) FRRF 1,263 8
4 8| (#k) i FAET 1,147 15
5 10({EBEXR (1K) B RF 1,068 6
6 6|2 LEEX (k) T 1,053 12
7 24 (#%p) =& FRFmH 1,005 7
8 2|18RAKT (K) BT 990 6
9 36|=EER () E+EFHT 933 5
10 27| KFLTE (B R 895 6
11 40(ledr22z% (%K) Jertr 872 6
12 13|Fil 2 (%) E+EHMEH 848 9
13 34| (%) ERHE RS 827 7
14 o|RBAIEES (HR) BN 823 10
15 21|1EEPEE (HR) BRI T 815 8
16 11|12 h L 58% () Ly e B A 798 9
17 7] () BRIRTZE B 775 5
18 22| L TEiEE (#R) W™ 706 10
19 b EERREER (KR R fF 686 4
20 16| (¥%k) KFHmIIEAT ELEHM 622 8
21 17|\ =MEE (%) FRRF 576 5
22 23| hnmEEE (KR) A BRET 574 7
23 Bl 7av 2527 8 () = bl LiN 564 3
24 25| (%) HFEH Yz 553 9
25 BN (BR) NAREIZE B JiE AT 527 5
26 19| (BF) BARMELEAK BT 522 6
27 20| (%) ZAHELAK i 474 4
28 33|82 (#R) FElFT 432 8
29 37| AMER (B BT 430 8
30 18|E A B (1) LG 430 3
31 B EFETE (K) ER N T 427 6
32 30| (#k) =EFEK BRI 7 409 5
33 BB () Jertrs 408 4
34 BN ke (KF) et 408 5
35 48|kt T2 (%K) T 400 7
36 BAEARLE () = R AT 399 6
37 B (%) XRJIIE BN 389 8
38 B4 (KR BN IHEE B 374 4
39 B4 BEER (%) B RF 356 10
40 B =% (%) FHR LA 349 3
41 431 (#) #FALAR FAET 336 3
42 47( (B8 7HH 7 Jert 327 4
43 26|H EEE% (BR) =417 323 4
44 B4 (KR < Jet 318 3
45 29| R EzE (#K) ELGE 317 5
46 50|mA iR (#R) ] 316 3
a7 B R=ETE (%) B RF 314 2
48 B (k) HELE = A O ET 303 6
49 B () &I AT =gnd:) 300 4
50 BN E R EE () Bm7 LT AT 297 4
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